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& 468,582 488,814 A 20,232
Al 1,680,724 1,704,744 A24,020
ns=sd XA 18,108 16,511 1,597
= 10,169 10,169 0
< 1,271 1,271 0
Al 6,668 5,071 1,597
SO NAAANEAEHA(ER) 14,308 12,711 1,597
= 10,169 10,169 0
& 1,271 1,271 0
Al 2,868 1,271 1,597
301 et 4= 14,308 12,711 1,597
= 10,169 10,169 0
< 1,271 1,271 0
Al 2,868 1,271 1,597
NJIEEd=S 14,308 12,711 1,597
Os02 XNSAHX HHUEH 14,308 12,711 1,597
= 10,169 10,169 0
< 1,271 1,271 0
Al 2,868 1,271 1,597
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dSAE 222 108,896 112,897 A 4,001
101 1Al 26,009 30,010 A 4,001
04 JI12ZtHZ22 s+ 26,009 30,010 A 4,001
OSEAZ 3dFG & Ald22(2F) 26,009 30,010 A 4,001
HEANE Y AFEIN UM Z2EXH 57,400 101,500 A 44100
307 glztol & 55,900 100,000 A 44,100
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Al 0 25,128 A25,128

SARSSsSTHESRUH HE 46,502 0 46,502
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dsMY HE 658,396 659,896 A 1,500
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Al 378,396 379,896 A 1,500

dESoY BEHA FOF X 1,000 2,000 1,000

301 et d = 1,000 2,000 A 1,000

09 AL HI BN = 1,000 2,000 A1,000

OR=3US HEA I 1,000 2,000 A 1,000

ZE30A 1,500 2,000 A 500

301 et d =S 1,500 2,000 A 500

09 AL HI B2 A= 1,500 2,000 A 500
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Al 70,000 70,000 0
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01 U2 Z S| 102,975 80,000 22,975
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z 82,380 64,000 18,380
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